MECZ ................ PRZECIWNIK..........vvvvveeen MECZ ................ PRZECIWNIK........ccvvvvnnne.
N - zapis o BT zapis
nr 4| kontrakt [ S 2 3 g peT| [ ™ 4| kontrakt [ S -2 3 P PKT
roz NS EW roz NS EW
MECZ ................ PRZECIWNIK..........vvvvvenen MECZ ................ PRZECIWNIK...............
N - zapis o T zapis
nr 4| kontrakt [ S| -2 5 P peT| [ ™ 4| kontrakt [ S -2 5 P PKT
roz NS EW roz NS EW
MECZ ................ PRZECIWNIK.........cccvvnnne. MECZ ................ PRZECIWNIK........ccovvvnnne.
N zapis i B zapis
rnr 4| kontrakt [ S 2 £ P PKT rnr 4| kontrakt [ S 2 5 P PKT
0z NS EW 0z NS EW
MECZ ................ PRZECIWNIK................... MECZ ................ PRZECIWNIK...............
N zapis |+ zapis
nr 4| kontrakt [ 81 2 3 g peT| [ ™ 4| kontrakt [ S -2 3 P PKT
roz NS EW roz NS EW
IMP VP Pl ve [imp]  vP  [iMP] P
0 [10.00:10.00] 8 [14.18:5.82 16 [17.03:2.97| 24 [18.97:1.03 IMPy
1 [1061:939| 9 [14.60:5.40( 17 [17.31: 2.69] 25 [19.16: 0.84 0-20=11 370-420 = ol 1500-1740=17
2 [ 11.20:8.80 10 [15.00:5.00[ 18 [17.59:2.41] 26 [19.34: 0.66 50-80=2| 430-490 =10| 1750 - 1990 = 18
3 [11.76:8.24 | 11 [15.38:4.62| 19 [17.84:2.16] 27 [19.52: 0.48 90-120=31 500-590 = 11| 2000 - 2240 = 19
4 [12.29:7.71] 12 [15.74: 4.26 20 [18.09: 1.91| 28 [19.69:0.31 130-160=4| 600-740 =12| 2250 - 2490 = 20
5 | 12.80:7.20 | 13 |16.09:3.91| 21 [18.33:1.67| 29 |19.85:0.15 170-210=5 750 -890 =13| 2500 - 2990 =21
6 | 13.28:6.72 | 14 |16.42:3.58| 22 [18.55: 1.45| 30+|20.00: 0.00 g%g - g?g = ? 11%%0 '1238 = 12 gggg - gggg = gg
7 | 13.74:6.26 | 15 [16.73:3.27 23 [18.76:1.24 320 - 360 = 8| 1300 - 1490 = 18] 4000 | wiece] = 24




